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QUESTION 1

What must an access control administrator do to inactivate a user account?
A. Delete the user

B. Remove all access rights

C. Change the account status to Locked

D. Change the accountstatus tolnactive

Correct Answer: D

QUESTION 2

Which of the following is true about Application Owners?

A. They can delete a Solution.

B. They can add new user accounts to the platform.

C. They can see all records within their assigned applications.

D. They can see all records in all applications across the system.

Correct Answer: C

QUESTION 3

What happens when you select the Round Robin option for a workflow stage?

A. A record is randomly assigned to qualified users.

B. A record is assigned to the user with the smallest workflow queue.

C. Arecord is assigned to the user with the most expertise on that topic.

D. A record is assigned to the user with the highest level of access for that application.

Correct Answer: A

QUESTION 4
When building a Rule for a data-driven event, which of the following field types CAN NOT be referenced by the rule?
A. Text

B. Attachment
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C. Record Status
D. Users/Groups List

Correct Answer: B

QUESTION 5

All system users automatically belong to a built-in group named
A All

B. Everyone

C. Basic User Parameter

D. Enterprise Management

Correct Answer: B
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